GPR Planetary Gears

Precision series with high torque and reduced circumferential backlash

Eiheytraction

Heytraction Driving Technology GmbH
Heidemannstral3e 3 D-80939 Munich
Phone: +49 89 312135-0 Fax: +49 89 312135-12
Email: info@heytraction.de  Internet: www.heytraction.de



Planetary Gears Series GPR Ei I‘:‘l'a"mrv&m
Precisions Series eytrac

Contents

i D 1= ol o1 o] o IO TP PPTOP P PPPT T UUPPRPPPPTON 2
2. 0rder INFOrMAtiON ... ittt e s e s e s e e sar e eans 2
3. GEAN SEIECTION ...ttt sttt et e st s s b e b b nnees 2
4, GPR75 Technical Data and Dimensions, Ton =30 =55 NM ....cuuiiiiiiiiiiiiiiiiiiiiieeeeeeerereeeeeeeeeeeeeeeen. 2
5. GPR100 Technical Data and Dimensions, Tan=75-120 NM ...ccoceovviiiiiiiiiiiiiee 2
6. GPR125 Technical Data and Dimensions, Tan= 160-280 NM......ccvvieeieiiiiiieieeeeeeecirreeeeeeeeeeanns 2
7. GPR150 Technical Data and Dimensions, Ton= 340-600 NM......ccccceeiiviiiereiiiieeeenieeeerieee e 2
8. MOTOI MOUNTING . c..eetiiiiiieie ettt e e ettt e e e s s e sttt e e e e s s sssasbaaaaeeeessesssstnaaaeesssnnannns 2
9. Moment of inertia at drive shaft J1 [KECM2]....cooiiiii e 2
10. Dimensional drawings: DeSIZNatiONS .........ceiiciiiiiciiiie et e ettt e e estre e e e etre e e ssrree e e areee s 2

This catalogue contains product specifications,
but no assurance of properties.
We reserve the right for technical changes and changes of availability.

2

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de



Planetary Gears Series GPR
Precisions Series

Rl heytrac

1. Description

GPR series planetary gears offer a
combination of economy and dynamic,
compact coaxial design.

The GPR series consists of 5 sizes: GPR75,
GPR100, GPR125 and GPR150

At the output side of the gears, the engineer
has the choice between 2 types

Motor attachment is easy, safe and fast via
clamp coupling. Motors of a variety of brands
can be mounted due to drive-side adaptation
via "flange and clamping shaft".

GPR series planetary gears are ideally suited
for dynamic positioning and continuous
operation, such as for:

They are ideally suited for applications where no reduced circumferential
backlash is required at the output shaft.

Load distribution to 3 planetary wheels within the planetary gear results in
high power density combined with compact design.

Reduced circumferential backlash

High dynamics

Low inertia torque

High torsional stiffness

High overload capacity

High efficiency > 96%

Service life = 20,000 h

Lubrication and sealing for entire service life
Coaxial drive and output

. Torque ranges from 35 Nm to 600 Nm
. Transmission between i = 3 and i = 343

. B14T
. BST

The casing is made of rugged special nitrided steel
The shafts are made of tempered steel

The cogs are made of steel with ground tooth flanks
The drive and output flanges are made of aluminium

The bearing is high quality and generously dimensioned
Packaging machinery

Automation technology

Machine tools

Robots

Printing machines

Linear guides

Woodworking equipment

and many more.

3

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de



Planetary Gears Series GPR Bi I‘;a"“arv&m
Precisions Series eytrac

2. Order information

Dimensions Trans- Output Output Hollow Drive flange Installatio
mission shaft... flange drive shaft Code P n Position
Design type @ D32
75 H
100 B14 VO
GPR 125 3-343 - 12-40 - B5 - 6-38 - P1 - P40 - VU
150 H90
For example:
GPR 75 - 5 - 16 - B14 - 9 - P15 - H

If the motor to be attached has different flange and shaft dimensions, please request the following dimensions from
Heytraction:

Motor flange: Centering @, pitch circle &, hole @ / thread

Motor shaft:  Shaft @, shaft length

Installation Position

H VO VU H90
Horizontal Vertical Vertical Horizontal
Output top Output bottom 90 ° swivel-type

I —

A
TN

— W

Lubrication
Planetary gears are supplied with permanent lubrication and are therefore maintenance-free.

3D models
Models in neutral step format can be found on our website:
www.heytraction.de

For example: GPR75_ig-3-4-5-6_16_B14_D32-all_P-all_3D_STEP.zip

This zip-file contains planetary gear model GPR75 with transmission ig=5, output shaft 16,
output flange B14, all drive flanges with Code P and all hollow shafts gD32.

4

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de



Planetary Gears Series GPR Ei I‘:‘l'a"mrv&m
Precisions Series eytrac

3. Gear selection

These conditions should be checked Calculation of the required transmission torque
Intermittent periodic operation Continuous operation
S3 mode S1 mode
: Ty#+ixvsfz
1. Torque: Application to gear Tapp = Toy Tppp =Ty xi*vafz =T, Tapp = e = Tiy
Cycles per hour
Cycle factor <1000 = 1000 = 2000 = 3000
fz 1 1.2 15 2
2. Torque: Application to gear TAPP = T:E Only possible for short cycle times, please contact Heytraction
3. Speed: Motor to gear My = My
Radial force at output shaft: < E.
4. Application to gear F“"‘W =Fy
Axial force at output shaft: = E.
5. Application to gear F"AW =Fa

6 Motor attachment:

Matnar tn mane

Flange and shaft

Radial force, not at the centre of gear output shaft

Fo sa GPR75 GPR100 GPR125 GPR150
ir
Frx =3 1+ 2 a 46 55 85 102
b 30 37 51 61
Far Farx
-} F2a
e

5

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de



Planetary Gears Series GPR Bi I‘;a"“armm
Precisions Series eytrac

4. GPR75 Technical Data and Dimensions, Toy = 30 - 55 Nm

i 3] 4[5 ] 6|9 |12]16][20]24]30]36]48]64]80]100]120]144]180]216
Number of steps 1 2 3
T me | 35 | 45 | 35 | 30 | 40 | 50 | 50 LJAS'QM 50 | 30 |35 | 55|55 |55 |55|55 (55|40 | 35
T?8 wnm | 55 | 65 | 55 | 50 | 60 70| 70 |70 | 70 |60 [ 55 [ 80 | 80 | 80 | 80 | 80 | 80 | 60 | 55
il mm | k§l0 | 130 | 110 | 110 | 120 | 140 | 140 | 140 | 140 | 120 | 110 | 150 | 150 | 150 | 150 | 150 | 150 | 120 | 110
niN mny |min-l 4000 4500 5000
nime o | A et O ane Lhe28000h-F2recontre-of oot L R0 oot
- I hine .E;vao.m s‘e‘é",?a;'é' 6666h:F2r=—centre-of otitptit shaftforconversion-to-other
F2a N N At n2=100min-1 and Lh=20000h; F2r= centre of output smmr conversion to other
warking point_see page
G tal arcmin Méasured-at-outgut-shaft- with-input-shaft I!1}§|md at 206 T2N 19
GZmax [arcmin] s 4' 6' 8'
;I'I(I:Ir’nin 0.96 0.93 0.91
ct avaee] h Bearing service life 4
OB(A) AU [IJ.—-SUUUHIiH'J.
Lh ] ~20000
Lubrication gem Service life
|LPA B | kgem2 <70
gD2=12 L 107.2 124.9 142.6
B14-B5
9D2=14-16 L 114.2 131.9 149.6
B14 9D2=12-14-16 L1 N 7.7 95.4 113.1
B5 gD2=12-14-16 | [L1 [ 807 98.4 116.1
gD2=12 L2 in- 21
B14-B5 min-2
9D2=14-16 L2 28
gD2=12 L4 26.5
B14 N
9D2=14-16 L4 33.5
pD2=12 L4 41
B5
oD2=14-16 L4 48
L10 Adx4
L11 13.5
B14-B5 pD2=12 L12 3
L13 15
D8 M4x10
L10 A5x5
L11 18
B14-B5 9D2=14-16 L12 2
L13 25
D8 M5x13
2D32 6-6.35-7-8-9-9.52 11-12-12.7-14
@52 Bauform B14 268 Bauform B5
M5 x10 L2 25,5 L2
L10 13 L10 L13
15° L12 ® 6 L12
D8 2 [ ] .
N o A& | = P
o = o IS - o
b @ S I X Ry S
X [ N &2 B
H \/ b
o = e 5 o[ o
N (o " X[ o
3| Q3 o6z UEER
L30 L1 L4 L30 | L1 L4 sls

6
Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de




Planetary Gears Series GPR
Precisions Series

N

Planetary Gears Series GPR

heytrac

GPRY75 Drive side, flange and hollow shaft

Drive flange Hollow drive shaft
i 2D32

Code| Page 14 @6 |©635| @97 | @8 | @9 | @9.52 | @12 |@12.7 | Q014

e | D33 | 2| D34 | @ |D35| @ | D39 |30 133 |0|@| L36 |32 |39 | 132 | 139 [L32 (139 (132 |L39 |L32 139 |L32| L39 |L32 | L39 |L32 |L39 |L32 |L39

o= max max max max max max max max max
PO1 X ] 22 214382 |9 |45 | 9| 22 | 10 3 @| 60 |37 |65| 37 |65 (37 |65|28|85|28|85|37| 85 |28 85|37 |85]|37 |85
P02 X 2| 381 || 6667|255 |8 32 |10 3 |0 60 |37 | 65|37 |65|37|65|28|85(28|85(37| 85 |28 (85|37 (85|37 |85
P03 X ) 40 ) 63 @ |55 |8 | 32 (10|35 |0 60 |37 |65|37 |65|37|65|(28|85([28|85(37| 85 |28 (85|37 85|37 |85
P04 2 60 2 75 g | 65| @] 32 |105/35|0 70 |375| 7 [375| 7 |37.5| 7 |285| 9 [285| 9 [37.5| 9 |285| 9 |375| 9 |375| 9
P05 ] 70 ] 85 2|65 ]| @]| 32 |10.5| 3.5 @| 105 |375| 7 |375| 7 |[375| 7 [285| 9 |285| 9 |375| 9 |285| 9 [375| 9 [375| 9
P06 g |73.02| @ (9842 | o 6 @ | 35 |11 (3.5 (0 80 |38 |75|38 |75|38|75[20|95[20|95[38| 95 |20 |95]|38|95]|38]095
P07 2 80 ] 100 |@ |65 | @ | 32 (11.5| 4 |O O5 |385| 8 [385| 8 |385| 8 [20.5| 10 [29.5| 10 [38.5| 10 |29.5| 10 |385| 10 |38.5| 10
P08 2 95 2 115 2 9 @ | 32 |11.5| 4 (O O8 |385| 8 |385( 8 (385 8 (295 10 [29.5( 10 (385 10 [295( 10 |38.5| 10 385 10
P09 2 110 | @ 130 | @ 9 g | 32|12 (45 |0 116 | 39 | 85| 39 | 85 | 39 |85 30 |10.5| 30 |10.5| 39 | 105 | 30 | 10.5( 39 | 105/ 39 | 105
P10 x ] 26 ] 39 2|45 | @ | 26 10 @| 60 |37 |65| 37 |65|37|65|28|85|28|85|37| 85 |28 85|37 (85|37 (85
P11 X ] 32 ] 42 2|45 | @ 32 10 3 @| 60 |37 |65|37|65|37|65|28|85|28|85|37| 85 |28 85|37 85|37 (85
P12 X I} 32 I} 46 |45 | @ 32 10 | 3.5 @| 65 |37 |65|37 |65 |37|65|28|85|28 85|37 | 85 |28 85|37 85|37 (85
P13 X ) 50 ] 65 @ |55|@8| 32 |10 |35 @| 80 |37 |65|37 |65 |37|65|28|85(28(85[37| 85 |28 85|37 |85]|37 |85
P14 X 2 20 2 39 @ |45 || 20 | 10 | 2.5 @| 60 |37 | 65|37 |65 |37 |65|28|85(28(85[37| 85 |28 85|37 |85]|37 |85
P15 2 60 ] 90 g |58|@| 32|12 |35|0 75 | 39 | 85| 39 | 85|39|85]|30|105[ 30 |105[ 39 | 105 | 30 | 105 39 |10.5| 39 | 105
P16 X ) 30 ) 45 2 |35|@| 30 | 14 7 @| 60 | 41 |105| 41 [10.5( 41 |10.5( 32 [12.5| 32 |125| 41 | 125 | 32 |125| 41 | 125| 41 | 125
P17 2 50 2 70 |45 | @ | 32 |16.5| 8 |0 60 |435| 13 |435| 13 [435| 13 [34.5| 15 [345( 15 [435| 15 [345| 15 |435| 15 [435]| 15
P18 2 50 2 60 (M 4 @ | 32 |10.5( 3.5 (0 60 |375| 7 |375| 7 |375| 7 |285| 9 [285| 9 [375| 9 [285| 9 |375| 9 [375| 9
P19 X g 25 g 36 2|45 | @ 25 10 3 @ 60 |37 |65| 37 |65|37|65|28|85[28 (85|37 | 85 |28 |85|37 |85]|37]85
P20 2 50 2 70 g |55 |@| 32 |10.5| 3.5 |0 60 |375| 7 |375| 7 |375| 7 |285| 9 [285| 9 [375| 9 [285| 9 |375| 9 [375| 9
P21 @ 30 "] 46 2|45 || 30 |10 3 @| 60 |37 |65|37 |65 |37 |65|28|85|28|85|37| 85 |28 (85|37 |85]37]85
P22 g 36 @ |7071 |9 |45 |@| 32 |10 | 2 |0 60 |37 |65|37|65|37|65|28|85|28|85|37| 85 |28|85|37|85]37]85
P23 7] 50 7] 70 g |55 |08 | 32 [15.5| 3.5 |0 62 |425| 12 |425| 12 |425| 12 (335 14 (335 14 [425| 14 (335 14 |425| 14 [425]| 14
P24 2 70 @ 90 |58 |@| 32|12 |35|0 75 | 39 | 85| 30 | 85|39|85]|30|105[ 30 |105[ 39 | 105 | 30 | 105 39 |10.5| 39 | 105
P25 2 55 2 85 g |58 |08 32|12 |35|0 70 | 39 | 85| 39 | 85|39 8530|105 30 |105[ 39 | 105 | 30 | 105| 39 |10.5| 39 | 105
P26 ] 34 @| 655 |@ |55 |@| 33|10 |35 |0 60 |37 |65|37 |65|37|65|28|85[28|85[37| 85 |28|85]|37|85]|37]85
P27 2 50 2 95 |65 |@| 32|12 |35 |0 80 |39 |85| 39 |85 |39 853010530 [10.5| 39 | 105 | 30 [ 10.5| 39 | 10.5| 39 | 105
P28 g | 38.1 | @ |66.67 M g | 32 9 |25|0 60 |36 |55|36 |55]|36|55|27|75[27|75[3| 75 |27 75|36 |75]|36]|75
P29 g 30 [} 45 M 3 g| 32 11| 4 @| 60 |38 |75|38|75|38|75|20|95|20|95|38| 95 |20 |95|38 |95] 38|95
P30 7] 60 g 85 |58 |@| 32|12 |35|0 70 | 39 | 85| 30 |85|39|85]|30|105[ 30 |105[ 390 | 105 | 30 | 105| 39 |10.5| 39 | 105
P31 7] 50 7] 70 (M g | 32 |11 |35 |0 62 |38 |75|38 |75|38|75[20|95[20|95[38| 95 |20 |95]|38|95]|38]095
P32 2 40 @ 65 (M 5 g | 32 |10 |35 |0 60 |37 |65|37|65|37|65(28|85[28|85[37| 85 |28 (85|37 |85]|37]85
P33 ] 60 @ 99 g|55|@| 32|11 |35|0 85 (38 |75|38 |75|38|75|20|95|20]|95|38| 95 [20|95|38 9538|095
P34 7] 40 @ | 73.54 (M 4 @ | 32 |10 (3.5 (0 65 |37 |65| 37 65|37 (65|28 (85|28 (85|37 | 85 |28 |85]|37|85]| 37|85
P35 %) 36 @ | 70.71 (M 2| 32 | 14 2 |0 60 | 41 |105| 41 | 105| 41 |10.5( 32 |12.5( 32 |12.5 41 | 125 | 32 [125( 41 |125| 41 | 125
P36 g |73.02| 2 |9842 | @ 6 g| 35 |15 |35 |0 85 | 42 |115| 42 115 42 (11.5| 33 [135| 33 [13.5| 42 | 135 | 33 [ 135| 42 | 135| 42 [ 135
P37 2 80 a 100 (@ |65 | @ | 32 (16.5| 5 |O O5 |435]| 13 [435| 13 [435| 13 [34.5| 15 [34.5| 15 [43.5| 15 |34.5| 15 |435| 15 |435]| 15
L32 ¢ D34 ¢ D34
*F 139 D35 D35
e e
A WA

’,
w
w

¢ D33
¢ D32
e

L30

OL36

$ L36

Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de




Planetary Gears Series GPR Bi I‘:‘l'a"mrmm
Precisions Series eytrac

5. GPR100 Technical Data and Dimensions, Ton= 75 - 120 Nm
i 3]4|5]|6]9]12]16]20]24]30]36]48]64]80][100][120]144|180]216
Number of steps 1 2 B
TN wm | 90 [110] 90 | 75 [100]115|115]115[115( 85 | 75 [120[120(120]120]120|120] 95 | 80
T8 wm |145]170[130(120(160|180|180(180|180140(130]190|190(190|190|190(190]150]130
e [Nm] 290 | 340 | 260 | 240 | 320 | 360 | 360 | 360 | 360 | 280 | 260 | 380 | 380 | 380 | 380 | 380 | 380 | 300 | 260
niN i) 4000 4500 5000
[P (min-1] 6000
= ™ 2100
F2a ™ 1050
kol 2.7 35 4.3
q2max {arcmin] 4' 6' 8
0.96 0.93 0.91
Ct [Nm/arcmin] 11
Lh [0 ~20,000
Lubrication Service life
LpA [dB(A)] <70
B14-B5 gD2=19-22 | L 138 163 188.5
B14 @D2=19-22 | [L1 95 120 145.5
B5 @D2=19-22 | [L1 82 107 132.5
B14-B5 @D2=19-22 | [L2 36
B14 @D2=19-22 | [L4 43
B5 @D2=19-22 | [L4 56
L10 ABX6
L11 215
gD2=19 L12 3
L13 30
D8 M6x16
B14-B5
L10 ABX6
L11 24.5
@D2=22 L12 3
L13 30
D8 M6x16
@D32 9-9.52-11-12-12.7-14-15.87-16-19
265 Bauform B14 Bauform B5
Mé x12 L2 L2
L10 L13 L13
= L2 L12
o o D8 N I D8
—\?'Q \\ = e o o 5 2 o 1
YA L 2 8 i
W& i listn
#80 | 5 'Sg 83 - 18 e
L30 L1 w | == 080 L30 L1 L4 sls
L L

8

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de



Planetary Gears Serles GPR H Planetary Gears Series GPR
Precisions Series heytrac

GPR100 Drive side, flange and hollow shaft

iizie Drive flange Hollow drive shaft
m;‘; 2D32
Code | Page @9 | ©9.525 | ¢11 | @12 | §12.7 | @14 |Q15.87 | P16 | @19
S:ﬁ" g D33 |o| D34 | g |D3| o |D39|L30|1L33|0|g| 36 |L32|L30|L32| L39 |L32|L39|L32L39 (L32| L39 |L32| L39 |L32| L39 |L32|L39 |L32|L39
~ u 5 max max max max max max max max max
POl| x | @ 38.1 g | 6667 |9 |55 9 [38.1|12 | 3 @l 80 |41 |35|4 | 6 26 (6 |41(6 |41 6 a1 | 6 41 | 6 41 |6 41 | 6
P02 @ | 55.52 | @ |125.72 |2 7 7] 45 (11 3 |0| |106.| 40 |25 |40 | 5 25 (5 [40|5 [40|5 |40 5 40 | 5 40 |5 |40 |5
PO3 | x | @ 60 ] 75 | |55 @ 45 (12 (3.5 (O 80 |41 |35]|41| 6 26 (6 |41(6 |41 6 a1 | 6 41 | 6 41 |6 41 | 6
PO4 | x | @ 70 (] 85 |g |65 @ 45 (12 |3.5 @105 41 |35| 4| 6 26 (6 |41(6 |41 6 a1 | 6 41 | 6 41 |6 41 | 6
P05 g | 73.02 | @ |98.425|g |6.5| @ 45 (12 3 |0| |825|4 |35|4| 6 26 (6 [41|6 [41|6 |41 6 4|6 416 |41 |6
P06 ] 80 g | 100 | |65 @ 45 |13 4 |0 00 |42 |45 |42 | 7 27 |7 |42 |7 |42|7 |42 7 2|7 2|7 |47
P07 ] 95 g | 115 (@ |85| @ 45 (13 (4.5 |O 100 | 42 |45 |42 | 7 27 (7 |42|7 |42|7 |42 7 2|7 2|7 |47
P08 2 110 g | 130 |@ 9 a 45 |13 |45 |0 116 | 42 |45 |42 | 7 27 |7 |42|7 |42|7 |42 7 2|7 2|7 |47
P09 | x | @ 26 ) 39 g |45| @ 26 |12 4 @] 80 |4 |35]|41| 6 26 |6 |41|6 |41| 6 41| 6 41 | 6 41 |6 41 | 6
P10 | x | @ 50 () 65 @ |55| @ 45 |12 |3.5 @] 80 |4 [35]|41 | 6 26 |6 |41|6 |41| 6 41| 6 41 | 6 41 |6 41 | 6
P11 2 115 a 166 |@ 9 2 50 (32|11 |0 150 | 61 |235| 61 | 26 |46 |26 |61 |26 |61 | 26 |61 | 26 |61 | 26 |61 | 26 | 61 | 26
Pl2 | x | @ 70 @ 90 g |65 @ 32 |12 |35 (O 80 |4 (35|41 | 6 26 |6 |41|6 |41| 6 41| 6 41 | 6 41 |6 41 | 6
P14 | x | @ 70 g 90 |g 6 a 32 (19 9 @| 105 | 48 |105| 48 | 13 |33 |13 |48 (13 (48| 13 [48| 13 |48 | 13 | 48 | 13 | 48 | 13
P15 | x | @ 50 g 70 |@g |45 @ 45 117 8 @| 80 |46 |85 |46 | 11 |31 |11 |46 |11 (46| 11 [46| 11 |46 | 11 | 46 | 11 | 46 | 11
P16 2 130 g | 165 (@ |11 | @ 45 |13 |45 |O 142 | 42 |45 |42 | 7 27 |7 |42 |7 |42|7 |42 7 2|7 2|7 |47
P17 | x | @ 40 ) 63 |g |55 @ 40 (12 |3.5 @l 80 |41 |35|41| 6 26 (6 |41(6 |41 6 a1 | 6 41 | 6 41 |6 41 | 6
P18 2 110 a 145 (M 8 a 32 (31 7 |0 130 (60 |225| 60 | 25 |45 |25 |60 |25 |60 | 25 |60 | 25 [60 | 25 |60 | 25 | 60 | 25
P19 | x | @ 60 () 90 2 |65 @ 32 |12 |3.5 (O 80 |41 (35|41 | 6 26 |6 |41|6 |41| 6 41| 6 41 | 6 41 |6 41 | 6
P20 | x | @ 55 ) 85 @ |55| @ 36 |12 |3.5 80 |41 (35|41 | 6 26 |6 |41|6 |41| 6 41| 6 41 | 6 41 |6 41 | 6
P21 2 50 a 95 (M 6 a 45 |12 |3.5 |O 80 |41 |35|41| 6 26 |6 |41]|6 |41 6 4| 6 41 | 6 416 |4 |6
P22 2 50 7] 70 |M 4 7] 45 |12 4 @| 80 |41 |35|41| 6 26 |6 |41]6 |41|6 [41] 6 4|6 41 |6 |41 |6
P23 2 60 7] 75 |[M 5, 7] 45 |12 |3.5 |O 80 |4 |35[4| 6 26 |6 |41]6 |41|6 [41] 6 4|6 41 |6 |41 |6
P24 7] 30 7] 46 (M 4 7] 30 |12 4 @| 80 |41 |35|41| 6 26 |6 |41]6 |41|6 [41] 6 4|6 41 |6 |41 |6
P26 2 40 7] 65 |M 5 a 40 |12 |35 @| 80 |41 |35|41| 6 26 |6 |41]6 |41|6 [41] 6 4|6 41 |6 | 41|35
P27 2 36.8 | @ | 82.02 M 6 g |36.8| 14 | 10 |0 80 |43 |55[43| 8 28 |8 |43|8 |43|8 [43]| 8 43 | 8 43 |8 | 43 |55
P28 2 80 a 100 (@ |65 @ 45 |28 0 O0 |57 |195| 57 | 22 |42 |22 |57 |22 |57 | 22 |57 | 22 |57 | 22 |57 | 22|57 |22
P29 | x | @ 50 g 16667 |9 |55 @ 45 (12 3 @] 80 |4 |35 41| 6 26 |6 |41|6 |41| 6 41| 6 41 | 6 41 |6 41 | 6
P30 7] 80 a 130 |o 9 a 45 (13 0 115 42 |45 |42 | 7 27 |7 |42 |7 |42| 7 2|7 2|7 2|7 |47
P31| x | @ 44 g 56 |M 6 g |136.8| 14 | 10 |O 80 |43 |55| 43| 8 28 |8 |43 |8 |43 8 43| 8 43 | 8 43 |8 |43 |8
P32 7] 70 7] 90 |M 6 @ 32 (12 |35 |O 80 |4 |35|4| 6 26 |6 |41]6 |41|6 [41] 6 4|6 41 |6 |41 |6
P33 7] 110 @ | 145 (g 9 a 45 |13 |45 |O 130 | 42 |45 |42 | 7 27 |7 |42|7 |42|7 |42 7 2|7 2|7 |47
P34 2 80 @ | 100 (M 6 a 45 |19 5 (O O0 |48 |105[ 48 | 13 (33|13 |48 |13 |48 | 13 |48 | 13 |48 | 13 |48 [ 13 | 48 | 13
P36 4] 95 g | 115 (M 8 2 45 |25 |45 |0 100 | 54 |165| 54 | 19 |39 |19 |54 |19 |54 | 19 |54 | 19 [ 54 | 19 |54 [ 19 | 54 | 19
P37 2 60 @ | 98.99 (M 6 a 32 (12 |35 |0 85 |41 |35|4 | 6 26 |6 |41|6 |41 6 4| 6 4| 6 416 |4 |6
L32
L39
R FAps >
o A
@ i

L33
L30

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de




Planetary Gears Series GPR
Precisions Series

N

Planetary Gears Series GPR

heytrac

6. GPR125 Technical Data and Dimensions, Ton= 160-280 Nm

L12

D8

i 34|57 [9]12]16]20]28]35]48]64]80]100]140[196|245]343
Number of steps 1 2 3
TN mm | 220(230(200|160|250|260(260|260|260(230|280|280|280|280|280|280|250|200
T2 mm | 350(370(320|300|400|420(420|420|420|370|450|450|450|450|450|450(400|370
TANer [Nm] 700 | 750 | 650 | 600 | 800 | 850 | 850 | 850 [ 850 | 750 | 900 | 900 | 900 | 900 | 900 | 900 | 800 | 750
nN fmin-1 3000 3500 4000
nimax min-1] 5000
g2 IN] 3700
E2a IN] 1850
G kgl 7.2 9.3 11.4
2max {arcmin] 4' 6' 8'
\Y 0.96 0.93 0.91
ct [Nm/arcmin] 32
Lh i ~20,000
Lubrication Service life
LPA [0B(A)] <70
B14-B5 | |eD2=25 176 208.4 241
B14-B5 | |eD2=32 203 235 268
B14 @D2=25 | |L1 119 151.4 184
B14 @D2=32 | |L1 138 170 203
B5 @D2=25 | |L1 96 128.4 161
B5 @D2=32 | L1 115 147 1180
B14-B5 | |eD2=25 | |L2 50
B14-B5 | |eD2=32 | |L2 58
B14 oD2=25 | |L4 57 57 57
B14 2D2=32 | |L4 65 65 65
B5 @D2=25 | |L4 80 80 80
B5 2D2=32 | |L4 88 88 88
|| L10 A8X7
|| L11 28
| |#D2=25 | |L12 5
L] L13 40
D8 M8x20
B14-B5
L L10 A10x8
L] L11 35
| |eD2=32 | |L12 4
L] L13 50
D8 M10x25
ooz 557 | 22 | e | 22| R 22:24
16-19 16-19 16-19
M?iﬁ Bauform B14 L2 g;zo Bauform B5 L2
L10 L13 L1 L13
LS . L2 - e § 1|0I
8 INE S R e S Q=SR] e
& f AN = S — 2 = S 1 g
) e ] v @) ;
U L USH e
| o2 S _ i
o115 5 SIS = I
L30 L1 |4 L30 L1 L4
L L

?02, 4
290 _{




Planetary Gears Series GPR
Precisions Series

N

Planetary Gears Series GPR

heytrac

GPR125 Drive side. flanae and hollow shaft

Drive flange Hollow drive shaft
Motor 2D32
mounting
Code Zae%fml: @12.7| @14 |@15.8| @16 | @19 @22 @24 @25 @28
67 g DH373 gl D34 | g |D35|g| D39 |_03 L33 |0lg| L36 ;363( L39 rl;]:g( L39 rl;]:g( L39 rl?é\i L39 rl?é\i L39 rl%sai L39 r|]_13;}\zx L39 ;zzx L39 rl]_%i L39
PO1 X @| 55.52 |@8|125.72|9 | 6.5 |@ |55.5| 13 3 |0 115 | 43 |6 35| 6 43 |6 43 |6 43 |6 62 |6 62 | 6 62 |6 62| 6
P02 X gl 60 |@| 75 |@ |55|g| 60 |13| 3.5 @l 115 | 43 |6 35 | 6 43 |6 43 |6 43 |6 62 |6 62 | 6 62 |6 62| 6
P03 X gl 70 || 8 |@ |65|g| 60 |13| 3.5 @l 115 | 43 |6 35| 6 43 |6 43 |6 43 |6 62 |6 62 | 6 62 |6 62| 6
P04 x |@| 73.02 |@| 98.42 |g | 6.5 (8| 60 |13 3 @l 115 | 43 |6 35 | 6 43 | 6 43 |6 43 |6 62 |6 62 | 6 62 |6 |62 6
P05 x |g| 80 |[@| 100 |@ [6.5|@| 60 |13 @ 120 | 43 |6 |35 | 6 436 [43|6 |43|6 |62 |6 62 | 6 62 |6 [62] 6
P06 X gl 95 |@| 115 |@ 9 || 60 |13| 4.5 ([ 115 | 43 |6 35 | 6 43 |6 43 | 6 43 | 6 62 | 6 62 | 6 62 |6 62| 6
PO7 g| 110 |g| 130 |@ |85 |@| 60 |13 |45 |0 | 115 |43 |6 |35 |6 |43|6 |43 |6 |43|6 |62/6 |62 6 |62|6 |626
P08 gl 130 |@| 165 (@ | 11 (8| 60 |13 | 4.5 |0 142 | 43 |6 | 35| 6 43 |6 |43 |6 |43|6 |62]6 62 | 6 62 |6 |62 6
P09 @g| 180 |g| 215 (@ | 13 || 60 (14| 4.5 192 | 44 |7 36 | 7 a4 |7 a4 |7 a4 |7 63 |7 63 | 7 63 |7 |63 7
P10 x gl 50 [@g| 65 | [65|8| 50 |13 3.5 @l 115 | 43 |6 35 |6 43 | 6 43 |6 43 |6 62 |6 62 | 6 62 |6 62| 6
P11 gl 110 |[@| 145 |M 8 |g| 60 |31 0 130 | 61 | 24 | 53| 24 |61 | 24 |61 |24 |61 | 24|80 |24 80 24 | 80 | 24 | 80| 24
P12 @| 110 |@| 145 |M 8 |[@| 60 |17 0 130 | 47 |10 |39 | 10 |47 |10 |47 |10 |47 |10 |66 [ 10 | 66 | 10 | 66 | 10 | 66 | 10
P13 @| 110 |@| 130 |M g| 60 (13| 4.5 |0 115 [ 43 |6 |35 | 6 436 [43|6 |43|6 |62 |6 62 | 6 62 |6 [62] 6
P14 X gl 50 |@| 70 |@ |6.5|9| 50 |13 | 3.5 115 | 43 |6 35 | 6 43 |6 43 | 6 43 | 6 62 |6 62 | 6 62 |6 62| 6
P15 g 70 |g| 90 (M| 5 (@] 60 |11| 3.5 @l 115 | 4 |4 |33 | 4 41 |4 |41 |4 |41|4 |60 |4 60 | 4 60 |4 |60 4
P17 x gl 70 (gl 90 |g [65|9| 60 |13 | 3.5 g 115 | 43 |6 35 | 6 43 | 6 43 |6 43 |6 62 |6 62 | 6 62 |6 62| 6
P18 gl 95 (g 130 M |85 (g| 60 (13| 4.5 |0 115 | 43 |6 |35 |6 43 |6 [43|6 |43 |6 [62]6 62 | 6 62 |6 |[62] 6
P19 gl 50 |g| 95 (@ [65(9| 50 (13| 3.5 115 | 43 |6 |35 | 6 43 |6 [43|6 |43 |6 [62]6 62 | 6 62 |6 |[62] 6
P20 g 60 |g 99 (M 6 || 60 [13| 4 115 | 43 |6 |35 |6 43 |6 [43|6 |43 |6 [62]6 62 | 6 62 |6 |[62] 6
P21 x |@| 82.5 |[g| 106 |@ |12.5|s| 60 |26.| 15 130 |565|19.5|485| 17.5 [56.5(19.5|56.5 |19.5[56.5(19.5|75.5|19.5| 75.5 | 19.5 | 755 [19.5(75.5| 19.5
P22 gl 110 |@| 165 (@ | 11 (| 60 |15| 4.5 (O 144 | 45 |8 |37 |8 45 |8 |45 |8 |45 |8 |64 |8 64 | 8 64 |8 |64 8
P23 X gl 40 |@| 63 |@ |55|9| 40 |11| 3.5 ol 115 | a1 |4 33 | 4 a1 |4 a1 | 4 a1 | 4 60 | 4 60 | 4 60 |4 60 | 4
P24 gl 80 (g 100 M| 6 (| 60 (18| 7 @l 120 | 48 |11 |40 | 11 |48 |11 |48 | 11 | 48 |11 | 67 | 11 | 67 11 |67 [11 |67 | 11
L32
Sy
m| =3k S
L )
(S
L33
L30

11

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de




Planetary Gears Series GPR

Precisions Series

N

7. GPR150 Technical Data and Dimensions, Ton= 340-600 Nm
i 34|57 ]9]12]16]20]28]35]48]64]80 100]140]196]245|343
Number of steps 2 3
2N nm 430 |470(410|340(500|560 |560 |560 | 560 (470|600 |600 |600 | 600 |600 | 600 |500|450
T2 mm 700 | 750|650 (600|800 900|900 [900 |900|750( 950|950 |950 | 950|950 | 950 | 800|750
el [Nm] 1400 1500|1300 | 1200|1600 | 1800 | 1800|1800 | 1800 | 1500 | 1900 [ 1900 | 1900 | 1900 | 1900 | 1900 | 1600 | 1500
niN fmin-) 3000 3500 4000
e (min-1] 5000
F w 6600
F2a w 3300
G kol 13 17 21
q2max [arcmin] 4' 6' 8
" 0.96 0.93 0.91
ct [Nm/arcmin] 60
L i ~20,000
Lubrication Service life
LPA [dB(A)] <70
B14-B5 | |gD32=38 240 281 322
B14-B5 | |gD32=40 265 306 347
B14 2D32=38 L1 152 193 234
B14 2D32=40 L1 177 218 259
B5 2D32=38 L1 130 171 212
B5 2D32=40 L1 155 196 237
B14-B5 | |eD32=38-40 | |L2 80
B14 9D32=38-40 | |L4 88
B5 9D32=38-40 | |L4 110
L10 Al0x8
L11 41
2D32=38 L12 5
L13 70
B14.85 D8 M10x25
L10 Al2x8
L11 43
2D32=40 L12 5
L13 70
D8 M10x25
o0z 1606- | 2% | leve. | BE | elg 222
22-24 22-24 22-24
ma;ﬂxsz Bauform B14 L2 e o1 S L2
L10 L13 10 L13
= L12 5 22 L
D8
&/ [l N = S . 3 8 = S |
3 H & % = -
NG ¢ 3 \&Q?E NS
#140 51 218 XTQO' | 27
L30 L1 L4 L30 L1 L4
L L

12

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de

Planetary Gears Series GPR

heytrac



Planetary Gears Series GPR
Precisions Series

N

Planetary Gears Series GPR

heytrac

GPR150 Drive side. flanae and hollow shaft

Drive flange Hollow drive shaft
Motor 2D32
mounting
Code F;chflj: ?15.87 | 216 219 @22 @24 | @28 @32 @35 238
67 g DH373 gl D34 | g |D35|@g| D39 |L30]| L33 |0g|L36 rl;%i L39 rl;]:g( L39 r|‘_13a§< L39 ;3;( L39 ;3;( L39 ;3;( L39 r|]_13azx L39 rl%sai L39 rl%sai L39
PO1 X @| 55.52 |@|125.72| | 6.5||55.52| 15 | 4 @|140| s78 |68 |57.8| 6.8 |42.8| 6.8 [57.8| 6.8 |57.8| 6.8 |82.8( 7.3 [82.8| 7.3 |82.8| 7.3 |82.8| 7.3
P02 X I 80 gl 100 |g | 6.5 |g 70 15 | 4 2140| 57.8 |68 |57.8| 6.8 |42.8| 6.8 [57.8| 6.8 [57.8| 6.8 [82.8| 7.3 [82.8| 7.3 [82.8| 7.3 [82.8| 7.3
P03 x |@| 95 (@l 115 |@ [85|@| 70 15 |45 2|140| 578 |68 |57.8| 6.8 [428| 6.8 |57.8| 6.8 |57.8| 6.8 [82.8| 7.3 [82.8| 7.3 |82.8| 7.3 | 828 7.3
P04 x |g| 110 [g| 130 |@ | 8.5 |@ 70 15 |45 |0 [140| 578 | 6.8 |57.8| 6.8 [42.8| 6.8 |57.8| 6.8 [57.8| 6.8 |82.8| 7.3 [82.8| 7.3 |82.8| 7.3 [82.8| 7.3
P05 gl 130 |g| 165 (@ | 11 (| 70 15 |4.5 |0 [142| s7.8 |68 |57.8| 6.8 [428| 6.8 |57.8| 6.8 |57.8| 6.8 [82.8| 7.3 [82.8| 7.3 |82.8| 7.3 | 828 7.3
P06 @l 180 (g 215 |@ | 13 |[B| 70 15 (4.5 |[J [190| s7.8 |6.8 |57.8| 6.8 [42.8| 6.8 |57.8| 6.8 |57.8| 6.8 [82.8| 7.3 |82.8| 7.3 |82.8| 7.3 [82.8| 7.3
P07 @l 230 |@| 265 (@ | 13 (| 70 15 |4.5 |0 [250| s57.8 |68 |57.8| 6.8 [428| 6.8 |57.8| 6.8 |57.8| 6.8 82.8| 7.3 [82.8| 7.3 |82.8| 7.3 | 828 7.3
P08 gl 110 |@g| 145 (M 8 |@| 70 18 | 7 [J |130]| 608 |98 |60.8| 9.8 [458| 9.8 |60.8| 9.8 |60.8| 9.8 |85.8|10.3|85.8|10.3(85.8|10.3|85.8|10.3
P09 @| 114.3 || 200 |@ (13.5|@| 70 22 |11 |0 |180| 648 |138|64.8|13.8|49.8|138|64.8|13.8|64.8|13.8(89.8(14.3|80.8|14.3(89.814.3(|89.8|14.3
P10 gl 95 |g| 130 (M 8 |@| 70 15 (4.5 |[] [115]| 578 |6.8 |57.8| 6.8 [42.8| 6.8 |57.8| 6.8 |57.8| 6.8 [82.8| 7.3 |82.8| 7.3 |82.8| 7.3 [82.8| 7.3
P11 @| 155 |g| 198 |@ |13.5(g| 120 | 22 [J [180| 648 |13.8|64.8|13.8|49.8|13.8|64.8(13.8|64.8|138|89.8|14.3(89.814.3(89.8|14.3|89.8|14.3
P12 g| 200 |@g| 235 (@ |13.5(@| 70 15 | 5 [ [220| 578 |68 |57.8| 6.8 |428| 6.8 |57.8| 6.8 |57.8| 6.8 |82.8| 7.3 [82.8 | 7.3 [82.8| 7.3 | 8238 7.3
P13 @l 130 |@g| 215 (@ | 13 (@| 70 15 |4.5 |0 [190| s7.8 |68 |57.8| 6.8 [428| 6.8 |57.8| 6.8 |57.8| 6.8 [82.8| 7.3 [82.8| 7.3 |82.8| 7.3 | 828 7.3
P14 gl 110 (@] 165 |@ | 11 (8| 70 15 |45 |[] [142]| 578 | 6.8 |57.8| 6.8 [42.8| 6.8 |57.8| 6.8 |57.8| 6.8 [82.8| 7.3 |82.8| 7.3 |82.8| 7.3 [82.8| 7.3
P15 x gl 70 |@g| 90 |g [6.5 |9 70 151 4 @|150| 57.8 |68 |57.8| 6.8 |42.8| 6.8 [57.8]| 6.8 [57.8| 6.8 [82.8| 7.3 [82.8| 7.3 [82.8| 7.3 [82.8| 7.3
P16 @| 114.3 |g| 177.8 |@ [10.5|9 70 15 |3.5 |0 [146]| 578 |68 |57.8| 6.8 |428| 6.8 |57.8| 6.8 [57.8| 6.8 |82.8| 7.3 [82.8| 7.3 | 82.8| 7.3 [82.8]| 7.3
L32
L 39
ol sl T s \
o i \
S
L33
L30

13

Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich




Planetary Gears Series GPR
Precisions Series

Rl heytrac

8. Motor mounting

For motor with 4x hole in the motor flange

@ Remove feather key from motor shaft.

@ Loosen fastening screws of hollow shaft.

©) Clean contact surfaces on the engine and transmission and free from grease, i.e. hollow shaft bore, motor shaft and flange
surfaces.

@+® |slide motor onto gear without hitting.

®+® [screw motor and gear together.

© [Tighten the fastening screws of the hollow shaft with torque wrench to the torque specified in the table.

For motor with 4x thread in the motor flange

®+@ Remove adapter flange from gear; mount motor flange.
+ [Tighten fastening screws at hollow shaft with torque wrench to the torque specified in the table.

Fastening screws at hollow shaft
GPR75 GPR100 GPR125 GPR150
6-6.35-
7-8- 9-9.52- 22-24-
@D32 | Mot | o 9952- | 1112 128710 157,94 (19874671 5509 | 158710\ 2224 3285
11-12- 12714 1° o o) i &2
12.7-14
S sawse [PNMTESIOCE ] MAX16 | M4x16 | M5x20 | M4x16 | M5x20 | M6x20 | M6x20 |M6x20| M6x20
sz Nuber o 1 1 1 1 1 2 1 2 3
SW_[wewchwan | om 3 3 4 3 4 5 5 5 5
MAn Tanend | 4.8 4.8 9.4 4.8 9.4 16.2 16.2 16.2 | 16.2

Motar mit 4x Bohrung

im Matarflansch

14

Motor mit 4x Gewinde
im Motaorflansch

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de



Planetary Gears Series GPR
Precisions Series

N

Planetary Gears Series GPR

heytrac

9. Moment of inertia at drive shaft J; [kgcm2]

i 3 4 [ 5 ]6 9 [ 12 [ 16 [ 20 [ 24 [ 30 [ 36 | 48 | 64 | 80 [ 100 [ 120 [ 144 [ 180 [ 216
Number of 1 2 3
steps
6 [016[0.14[0.12]0.11[0.16[0.16]0.14[0.12]0.11[0.11]0.11]0.16[0.16[0.16 [0.14[0.12]0.121[0.11][0.11
6.35 | 0.160.14[0.12 [0.11]0.16 [ 0.16 | 0.14 [ 0.12 [ 0.11 [0.11 | 0.11 [ 0.16 | 0.16 | 0.16 [ 0.14 [ 0.12 [ 0.11 [0.11 | 0.11
7 |016[0.14[0.12]0.11[0.16[0.160.14 | 0.12 [0.11 | 0.11 [ 0.11 [ 0.16 [ 0.16 | 0.16 | 0.14 | 0.11 [0.11 | 0.11 [ 0.11
8 |019]0.16[0.14][0.13[0.19[0.19]0.16 | 0.14 [ 0.13[0.13[0.13[0.19 [ 0.19[ 0.19 [ 0.16 | 0.14 [ 0.14 | 0.13[ 0.13
GPR75 |opazl—2 [ 0-19[0.16 [0.14 [0.13]0.19]0.19 0.6 [ 0.14 [0.13 [ 0.413[0.13]0.19] 0.19 [0.19 [ 0.16 [ 0.14 [0.14 | 013 [ 0.13
952 [0.19]0.16]0.14 [0.13]0.19 [ 0.18 | 0.16 [ 0.14 [ 0.13[0.13[0.13[0.19]0.19 | 0.18 [ 0.16 [ 0.14 [ 0.14 [ 0.13 [ 0.13
11 [021]0.18]0.16 [0.15[0.21 [0.21[0.28|0.16 [ 0.15[0.15 [ 0.15 [ 0.21 [ 0.21 [ 0.21 [ 0.18 | 0.16 [ 0.16 [ 0.15[ 0.15
12 [021[0.19]0.16 [0.16 [0.21[0.21[0.18|0.16 | 0.16 [ 0.16 [ 0.16 [ 0.21 [ 0.21 [ 0.21 [ 0.18 | 0.16 [ 0.16 | 0.16 [ 0.16
12.7 | 0.21[0.18[0.16 [0.16 [ 0.21 [ 0.21 [ 0.18 | 0.16 [ 0.15 [ 0.15 [ 0.15 [ 0.21 [ 0.21 [ 0.21 | 0.18 | 0.16 [ 0.16 | 0.15 [ 0.15
14 |025]022] 02 [0.19]0.25[0.25][0.22] 0.2 [0.19[0.19[0.19]0.25[0.25]0.25]0.22| 0.2 [ 0.2 [0.19]0.19
9 [047]0.35[0.28]0.26[0.48]0.47]0.34]0.280.26[0.25]0.25]0.49[0.48]0.47 [0.34]0.28 [0.28[0.25[0.25
9.52 [ 0.47 [0.35[0.28 [ 0.26 [ 0.48 | 0.47 | 0.34 [ 0.28 [ 0.26 [ 0.25 [ 0.25 [ 0.49 [ 0.48 | 0.47 [ 0.34 [ 0.28 [ 0.27 [ 0.25 | 0.25
11 [0.49[037[ 03 [0.28] 05 [0.49 036 [ 0.3 [0.28[0.27[0.27[051] 0.5 |0.49[0.36] 0.3 [ 0.3 [0.27]0.27
GPR100 |opa2| 2271049 [0.37[ 03 [0.28]051]049]0.36] 03 J028[028[0.28]0.51]0.51[0.49[0.36 ] 03 [ 03 028028
14 [ 053]0.41[0.34[0.32[055]0.53[041]0.34[032[0.32][0.32]0.55]0.55]0.53[0.41]0.34][0.34]0.32]0.32
15.87( 0.82 | 0.7 [ 0.63 [ 0.61 [ 0.83 | 0.82 | 0.69 [ 0.63 [ 0.61 [0.61 | 0.6 | 0.84 | 0.84 | 0.82 | 0.69 [ 0.63 [ 0.63 [ 0.61 | 0.6
16 |0.82 [ 0.7 [0.63][0.61[0.83][0.82[0.69 | 0.63[0.61| 0.6 [ 0.6 [0.84[0.83[0.82|0.69 | 0.63[0.63| 0.6 | 0.6
19 | 08 [069]0.62] 0.6 [0.82]0.81]0.68|0.62]059]|0.59]0.59]0.82]0.82]0.81]0.68]0.62][0.61][059]0.59
i 3 4 [ 5 [ 7 9 [ 12 [ 16 [ 20 [ 28 [ 35 [ 48 | 64 | 80 [ 100 [ 140 [ 196 [ 245 [ 343
Number of 1 2 3
steps
127 1.91[118]0.84 (064 1.93[1.85]1.14 [0.82|0.62 | 0.63|0.62|1.92[1.84[1.14|0.81| 0.8 [0.62 [ 0.61
14 [1.98[1.25[0.91] 0.7 [1.99[1.91[1.21[0.88]0.69[0.69[0.69]1.99[1.91]1.21]0.88]0.87[0.68]0.68
15.87( 2.26 [ 1.53 [ 1.19 [0.99 [ 2.28 | 2.2 [ 1.49 [ 1.17[0.97 [0.98 | 0.97 [ 2.27 | 2.19 [ 1.49 [ 1.16 [ 1.15 | 0.97 [ 0.96
GPR125 |opa2|— 16 [2.26[1.53 [1.19 [0.99]2.28] 2.2 | 1491 1.16] 067098 0.97]2.27]2.19]1.49 ] 1.16 | 1.15 [ 0.7 ] 096
19 [224] 15 [1.16]0.96[2.25][2.17 [ 1.47 [ 1.14 [0.95 | 0.95[0.95 [ 2.24 [ 2.17 [ 1.46 [ 1.14 [ 1.12 [ 0.94 [ 0.94
22 | 4.95[4.22(3.883.67[4.97|4.88]4.18 | 3.85[3.66 | 3.66 | 3.66 | 4.96 | 4.88 | 4.18 | 3.85 | 3.84 [ 3.65 | 3.65
24 | 4.91[418(3.84(363]4.92]4.84]4.14[3813.62]3.62]3.62492]4.84[4.143.81| 3.8 [3.61]3.61
28 | 51 [436]4.02]3.82[511[503][433| 4 [3813.81[381[511[503[432| 4 [398] 38 | 3.8
15.87| 6.58 | 4.64 | 3.64 [ 3.05 | 6.54 | 6.32 | 4.49 [ 3.55 [ 3.01 [ 2.99 | 2.97 | 6.51 | 6.31 [ 4.49 [ 3.55 [ 3.51 | 2.98 [ 2.97
16 | 6.58 [ 4.64 [ 3.64 | 3.05 [ 6.54 | 6.32 | 4.49 | 3.55 [ 3.01 | 2.99 [ 2.97 [ 6.51 | 6.31 | 4.48 | 3.54 | 3.51 [ 2.98 [ 2.97
19 | 6.62 [ 4.68 [ 3.68 | 3.09 [ 6.58 | 6.36 | 4.53 | 3.59 | 3.05 | 3.03 | 3.01 [ 6.55 | 6.35 | 4.52 | 3.59 | 3.55 [ 3.02 [ 3.01
22 | 757563463404 (753731548454 4 |3.973.96| 7.5 | 7.29 | 5.47 | 453 | 4.5 [3.97 [ 3.96
GPR150 |eD32| 24 [7.53[559[459| 4 [7.497.27 544 45 [3.96[3943.92[7.46]7.26 544 45 [4.46[3.93[3.92
28 [11.55(9.62 [ 8.62 | 8.03 [11.51] 11.3 | 9.47 [ 8.53 [ 7.98 | 7.96 | 7.95 [11.49[11.28] 9.46 | 8.52 [ 8.48 [ 7.96 | 7.95
32 [13.38[11.44[10.45] 9.86 [13.34[13.13] 11.3 [10.36] 9.81 | 9.79 | 9.78 [13.31]13.11]11.29]10.35[10.31] 9.79 [ 9.78
35 [13.28[11.34|10.35] 9.76 [13.24]13.03] 11.2 [10.26 9.71 | 9.69 | 9.68 [13.21]13.01[11.19]10.25[10.21 9.69 | 9.68
38 [12.94] 11 [10.01]9.42 [ 12.9 [12.69]10.86] 9.92 [ 9.37 | 9.35 [ 9.34 [12.87[12.67]10.85] 9.91 | 9.87 [ 9.35 [ 9.34

15

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich
Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de



Planetary Gears Series GPR

heytrac

Planetary Gears Series GPR
Precisions Series

N

10.

Dimensional drawings: Designations

Planetary gear

2D1 Housing diameter = L2
L +2 Gear length [mm] L0, L1z
L1 +2 Housing length 8
Planetary gear output 3| i =
oD2 Shaft diameter Type B14 S & =
2D3 Centering of flange diameter L
oD4 Flange bolt circle diameter o s 4 s
D5 Flange thread depth 4xMx % D6 1 L4
2D6 Flange diameter =
D8 Shaft thread depth max

[mm]
L2 Shaft length
L3 Centering of flange length
L4 Flange bolt circle distance
L10 Feather key shape x width x height DIN6885 T1
L11 Feather key height Type B5
L12 Feather key at shaft front side
Planetary gear drive
2 D32 Hollow shaft diameter [mm]
@ D33H7 Centring of flange diameter
2 D34 Flange bolt circle diameter
2 D35 Flange drilling diameter
@ D39 Flange inside diameter Drive side
L30 Flange length
L32max Hollow shaft length
L33 Centring of flange length
L36 Flange section
L39 Hollow shaft distance

16

Heytraction Driving Technology GmbH Heidemannstrae 3 DE-80939 Munich

Tel: ++49 89 312135-0 Fax: ++49 89 3132526 Email: info@heytraction.de Internet: www.heytraction.de




